Solve this, matrix equation
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Solve this system of equations:
Ax + 3z = —64 X= (8D
19y + 7z —x = -23 [
~4z -8y = 40
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Solve this system of equations:
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This inequality tells me that the distance from

Solve. zero is LESS than 42.3. In other words, you are
closer than 42.3 from zero. Which means you are
between -42.3 and 42.3

’.\‘ + 13. 7’ <42.3 / This leads to the

following graph
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This inequality tells me that the distance from
Solve. zero is MORE than 84.9. In other words, you are

farther than 84.9 from zero
x +27.6|> 84.9 /
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you can solve
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This leads to the
following graph




